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-‘ rue or F al sle ? Divide 2-digtte by |-digtt (2)
..

73+-6=Ir7
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Multiply Y-digits by 2-digits

4,630 X 23 = 2,3I5 X 46
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-‘ rue or F al sle ? Divide 2-digits by |-digtt (1)
..

Each of these cdlculations have the same
quotient.

gi+7=
36 +3=
9%6 + 8 =
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True or False ?

If you divide any number endingin a2 or a
7 by 5, you will dlways get a remainder of 2
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Divide Y-digtts by I-digit

@ 9,063 +~ 3 = 3,06
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"rue or Fa‘se ? Divide 3-digits by I-digrt
..

To divide 639 by 3 you need to use the short
division method.





